h | Translations Find the Coordinates

Name:

#1

The point J(3,3) is translated 3 units left. What are the
coordinates of the resulting point, J'?

[e)}
+

J(6,3) J(3,6)

J(3,0) J(0,3)

Show your work

#2

The point Y(—6,1) is translated 4 units right. What are
the coordinates of the resulting point, Y'?

6-42 246
-4
-6

Yi=( )

Show your work

#3

The point D(6,4) is translated 1 units down. What are
the coordinates of the resulting point, D'?

|
<n-?>r'~'
T
|
|
|
|
|

D'(6, 5) D'(7,4)

D'(6,3) D/(5, 4)

Show your work
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h | Translations Find the Coordinates

Name:

#4

The point Y(4,4) is translated 3 units down. What are
the coordinates of the resulting point, Y'?

[e)}
+

Y'(1,4) Y'(4,7)

Y'(7,4) Y'(4,1)

Show your work

|45

The point F(2,1) is translated 3 units right. What are
the coordinates of the resulting point, F'?

6-42 246
-4
-6

=)

Show your work

@

The point J(0,6) is translated 3 units right. What are
the coordinates of the resulting point, J'?

J(0,9) J'(0,3)
J(3,6) J(-3,6) Show your work
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Name:

1#7]

The point W(0,0) is translated 4 units up. What are
the coordinates of the resulting point, W'?

[e)}
+

W'(—4,0) W'(0, 4)

W'(4,0) W'(0, —4)

Show your work

#8

The point R(—6,3) is translated 1 units right. What are
the coordinates of the resulting point, R'?

R'(~7,3) R'(—6,2)

R'(—6,4) R'(~5,3)

Show your work

#9
The point C(—2,—4) is translated 4 units up. What are
the coordinates of the resulting point, C'?

6-42 246
b~

-6

Show your work
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Name:

#10
The point A(—2,6) is translated 2 units right. What are
the coordinates of the resulting point, A"?

[e)}
+

A'(0,6) A'(—2,8)

A’'(—4,6) A'(—2,4)

Show your work

#11

The point G(2,5) is translated 1 units right. What are
the coordinates of the resulting point, G'?

6-42 246
-4
-6

G=( )

Show your work

#12

The point S(—3,4) is translated 3 units down. What
are the coordinates of the resulting point, S'?

S'(~3,7) S'(—6, 4)
§'(-3,1) §'(0,4) Show your work
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I | Translations Find the Coordinates Answer Key

Question Answer
#1 choice 4
#2 2,1
#3 choice 3
#4 choice 4
#5 5,1
#6 choice 3
#7 choice 2
#8 choice 4
#9 2,0
#10 choice 1
#11 3,5
#12 choice 3
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